BEBE: ASRZF7ILRYY I ANREZ

4,910

B

=

hiy

: PBER BT L (F

5,070

2,775

2,295

XH*

CEETEY 7 M-VB A %PBI2.5R Y BEL|E T

9835

T#h : 105+t KPB12.5 (W)
gl R -

921

2,1943

973.5

[ R | W
F % 470 VN éTI%;il%ﬁE %E‘//7250
HEA2 e i‘g’k*ﬁgf:k
é@rﬁwm
HRAa
AEA S
T 25 1 2 -
[mmas | mEas 10 gmasf—
VT SRR | B T IR A %Tﬂl%ﬁﬁﬁ
M=|l - l\/ll : Il ,4H;L” =]
= / hova— |3
>k 700 /) ) AT
910 3,090 w| 910 |
ﬁ 983. 5 3.226.5 S _jwE
\

B
HEA
REA?2
HEE
A4
READ
Fik
2/

ETHAEABE

Bk 1
BERLVY

L]
750
750
150
900
900
400
1200
1200
600
750

FER

WETDE&H HE

450 800
450 800
450 800
450 800
450 800
430

600 800
600 800
600 800
450 800

AR

SR ft &
Bl P ft &
k. HEK
mihEs. k. HEXK. AR
EIE100V

BEMS. k. HEK, BIRI100V
k. HEK

BIR100V

3,285

RO EY EriRE L

1,164

700

600

800

300

v

f&f7 (]

TT7 XY FUEER

1/50




